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Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
WIOng answer.

5. The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take
out the Answer Sheet and fill in the particulars carefully with
Blue Ball Point Pen only.

6. Please correctly fill your Roll Number in O.M.R. Answer
Sheet. Candidate will themself be responsible for filling wrong
Roll No,

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using Blue
Ball Point Pen.

9. If there is any sort of ambiguity/ mistake either of printing
or factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

10. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.ILR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Rajasthan Public Examination (Prevention
of Unfair means) Act, 2022 & any other law applicable and

Commission’s Rules-Regulations. Commission may also

debar him/her permanently from all future examinations.
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Which,is.not a correct match-?
Livestock Breed

(1) Camel - Nachna

(2) Sheep - Lohi

(3) Cattle — Mewati

(4) Goats ~— Badwari

Match the foilowing and select the
correct answer from codes given

~ below :

List-II
(Location)
(1) Bundi

List-1 (Wild-
life Sanctuary)

A. Ramgarh
Vishdhari

Sajjangarh (i) Udaipur

Sitamata  (iii) Pratapgarh
. Van Vihar  (iv) Dholpur

Codes :
A B C D
® @) G Gv)
@ () (@) Gv)
) @ @) @Gv)
@ @ Gv) (i)

o ow

0y
@)
3)

‘Masuria’ is the famous handicraft
of '

(1) Sikar

(2) Bikaner

3} Kota
~ (4) Jodhpur

Which areas have been covered
under the ‘Mewat Area
Development Programme’ ?

(1) Al blocks of Bharatpur district
(2) Dholpur and Karauli districts

(3) Selected blocks of Alwar and
Bharatpur districts

(4) 20 blocks of Bharatpur and
Dholpur districts
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5. Among the following, which is not
a coal based thermal power project
of Rajasthan ?

(1) Kalisindh
” (2) Anta

3m (3) Suratgarh

(4) Chhabra

6., According to 2011 census, select
districts having more than 400
density of population :

A. Dausa

B. Sikar

C. Jhunjhunu
D. Bharatpur
Codes:

” (1) A,Band C
(2) Aand D
(3) Cand D
(4) Band C

7. The ancient site of Ojhiyana in
Rajasthan is situated at
" (1) Udaipur
(2) Bhilwara
(3) Banswara
(4) Sikar
8. ‘Which of the following dance is pot
| performed by the Kalbeliyas ?
(1) Panihari
(2) Sankariya
(3) Indoni
(4) Chari Dance

9. ‘Sat Bees Devari Jain Temple’ is

situated in

(1) Chittorgarh fort

(2) Ranthambor fort

(3) Mehrangarh fort
| 9 Kumbhalgarh fort
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was the Guru of Daduji.
(1) Roop Goswami

(2) Sukhdev Muni

(3) Kriparam

(4) Brahmanand

. Where is the ‘Khivan'.ornament

worn by the women ?
(1) ear '
(2) nose

(3) hand

(4) leg

In Wthh place in Dungarpur
District is the Beneshwar Fair
held ?

(1) Sabla

(2) Navatpura

(3) Bagad

(4) Amlia

In which of the following forts.was

the work of casting of cannons
done ?

(1) Jaigarh Fort

(2) Nahargarh Fort

(3) Taragarh Fort

(4) Mehrangarh Fort

Wheére are the Bade-Miya, Rakhl
and Pal Havelis situated ?

(1) Bikaner

(2) Jaisalmer

(8) Jodhpur

(4) Jhunjhunu

Which of the following toutistic
site is not located in Jaipur ?
(1) Jantar Mantar
(2) Hawa Mahal
(3) Jag Niwas Palace
(4) Saragasuli
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is the ‘Takht-e-Shahi’
turban worn ?

(1) Jaipur

(2) Jodhpur

(3) Udaipur

(4) Kota

The theme of 18h National
Jamboree held in January 2023
was :

(1) “Progress with Peace”
(2) “Unity in Diversity”
(3) “Hand in Hand”

(4) “Live and Let Live”

Who among the following is
awarded the Sahitya Akademi Bal
Sahitya Puraskar 2022 for
Rajasthani language ?

(1) Kuldeep Sharma

(2). Vishwamitra Dadhich

(3) Manohar Nihalani

(4). Kshama-Sharma

Read the following statements
about Rajasthan E- vehicle Policy-
2022 .

(A) The policy shall be valid for {:1
period of 10 years from the
date of notification.

(B) The manufacturing target is of
35 lakh units per year in the
next 5 years.

Choose the correct code :

(1) Only (A) is true.

(2) Only (B) is true.

(3) Neither (A) nor (B) is true.
(4) Both (A) and (B).are true.
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In Rajasthan the Rajiv Gandhi
Fintech Digital Institute is to be
established at

(1) Jaipur
(38) Udaipur

(2) Jodhpur
(4) Pali

Which Directorate of Government
of Rajasthan was awarded the
National awsard for digital
transformation for the year 2022 ?

(1) Directorate of College
BEducation

(2) Directorate of Economies and
Statistics

(8) Directorate of Peacer and
Nonviolence

(4) Directorate of Information
and Public relation

In December 2022, which of the
following site of India is not added
to the tentative list of UNESCO
world heritage sites ?

(1) Vadnagar town of Gujarat
(2) Sun temple at Modhera
(3) Lepakshi Nandi temple

(4) Rock-cut sculptures of Unakoti
in Tripura

The Cryptocurrency works on
which of the following technology ?

(1) Block chain

(2) Edge Computing

(3) Quantum technology

(4) Augmented Reality technology

<As per Global Innovation Index

(GII), India’s ranking in 2022 was
(1) 3ist (2) 40th
(3) 41st (4) 30tk

00




e e e

95. Frfufgq § § 9T @ TS SR | 25. Which one of the followirig is not
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| firery ¥ 7 - | the following districts ?
O e
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2 ) ’ VARSI .
i' ) 23; o, wreh, & (3) Sirohi, Pali, Dungarpur
| @ & T;'I'lﬁt ’ E; fg_ ' ” (4) Tonk, Nagaur, Karauli
27. $RE 3% wigangt el & frg wr i | 27. Which type of soil is found
: T el 2 7 in Dungarpur and Banswara
L Q) weh ' districts ?
KN (1) Black soil
(2) IS 7 (2) Red Loam soil
(3) defi-sifiga (3) Yellowish Brown soil
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28, FEffenda NI amE&ag ? 28, Which of the following are copper
A, EaE - g ad mining areas ?
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As per India Brand Equity
Foundation (IBEF), the share of
the IT-BPM sector in the GDP of
India in financial year 2022 was

(1) 10.4%

(2) 7.4%

(3) 12.6%

4) 6.2%

In, context of cloud computing

TaaS’ is abbreviated for

(1)_ Internet-as a Service

(2)' Information as a Service

(3). Infrastructure as a Service

(4) Information and advertising
System

Which of the following statement is

false 7 ) ‘

(1) Needs describe basic human
requirements. ]

(2) A person needs food but
wants mangoes.

(3) Marketers create needs.

(4) Demands are wants for
specific products backed by
ability to pay.

Public hospitals are basically

-engaged with
(1) Corporate marketing

(2) Commercial marketing
(8) Social marketing

. {4) Product marketing

Statement containing assets and
liabilities of a business on, a
particular date is called

(1) Trial balance

(2) Balance sheet

(3) Journal

(4) Journalising
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Under National Health Mission

which committee is responsible for -

making plan for village health ?

(1) Panchayat Health Committee
(PHC)

(2) Village Health Planning and

Management Committee
(VHPMO)
(3) Village Health Sanitation

and Nutrition Committee

(VHSNO)
(4) Rogi Kalyan Samiti

All of the following are goals of
National Health Policy, 2017 except

(1) Increase- life expectancy at

birth from 67.5 to 70 by 2025

(2) Reduction of total fertility,
rate to 2.1 by 2025

(3) Reduce under 5 mortality to
" 23 by 2025

(4) Reduce neo-natal mortality to
. 6 by 2025

Secondary level of health care is
generally provided in

(1) PHC
(2) Sub-centres
(3) District Hospitals

(4) Medical colleges

National Health Policy, 2017

recommends

(1) 1bed per 1000 population
(2) 2 beds per 1000 population
(3) -3 beds per 1000 population

(4) 4 beds per 1000 population
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38;
- about Cohort Study ? _
It is a type of longltudmal

39.
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Which of the following is pot true
(1)

)
(3)

(4)

study.
I_’roceed from cause to effect.

Requires large sample &
takes long time,
‘It is always prospective.

The purpose of double blinding in
clinical trials is to
(1)>-Avoid observer bias

‘(2) Avoid observer'& subject bias

(3) Avo1d sub}ect & evaluatlon
bias -

(4) Avoid subject bias’

An unexpected increase in the

- number of disease cases in a

specific geographical area is called
as

(1) Pandemic

(2) Endemic

(3) Epidemic

(4) Sporadic

An outbreak of brucellosis in cattle
is reported, threatening the health
of 'human population. This
outbreak is

(1) Epizootic

(2) Epornithic

(3) ' Enzootic

(4) Exotic

-

Killing power of a disease is best
expressed by :

(1) Attack rate
(2) Secondary'attack rate
(3) Case fatality rate

(4). Survival index
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. What is the mode in the following

The following disease 1is pot
covered under National Vector
borne Disease Control Progamme :
(1) Kala-azar

(2) Guinea worm disease

(3) Japanese encephalitis

(4) Chikungunya

Non-metric data is also known as :
(1) Continuous data

(2) Quantitative data
(3) Numerical data -
(4) Categorical data

Which of the following is not true
about Likert scale ? '

(1) It was developed in 1932 by
Rensin Likert.

(2) It is generally used to
quantify attitudes.
@) It is also known as

summative scale.
(4) Itis acumulative scale. .

Which of the following is a
parametric test 7

(1) ANOVA

(2) Mann Whitney test

(3) Wilcoxon test

(4) Kruskal-Wallis test

geries ?

1, 10, 20, 30, 40, 47, 47, 50
(1) 35 (2) 30
(3) 40 4) 47

. WHen mean, median and mode are

identical the distribution is

(1) Symmetrical distribution
(2) Positively skewed

(3) Negetively skewed

(4) Unsymmetrical distribution
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Which of the following are methods
of performance appraisal ?

(a) 45 degree appraisal

(b) 360 degree feedback

(¢) Management by objectives

(d) Paired comparison

Select the correct answer using the

,codes given below : '

-

(1) (a), (b) and.(c)
@) (b), (c) and (d)
(3) «(a), (c) and (d)
(4) (@ and (b)

The important
Variability are all except :
(1) Mean deviation

(2) Range

(3) Variance

(4) Standard deviation

Procedure through which one
determines ‘the duties of the
positions & the characteristics of
the people to hire for these
positions

(1) dJob description
(2) Job analysis

(3) Job specification
(4) Job posting

Act

The Factories- into

existence in
(1) 1947
(3) 1848 -

came

(2) 1948
(4) 1971

The process of forecasting a, firm’s
future demand for, and supply of,
right. type of people in the right
number is called

'(1) Market Forecasting
(2) Human Resource Planning
(3) Human Resource Audit

(4) Human Resource Processing
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Horizontal expansion of job is

called

(1) Job enrichment
(2) dJob sharing

(3) Job enlargement

(4) dJob involvement

Which method arranges the jobs in -
numerical order from highest rank
to lowest rank on the basis of
‘duties and responsibilities ?

(1) Ranking method

(2) Grading method

(3 Point rating method

(4) Factor comparison method

Who developed
Analysis technique ?

(1) Kurt Lewin
(2) Fiedler

(3) Viocom

(4) Tannenbaum

Force  Field

When the team is able and whling,
it is regarded as the level of

(1) Perform
(2) Norm
(3) Storm
(4) Form

. Which of the following is opposite

of the Halo effect ?
('1) Contrast effect
(2) Horns effect
(3) Dyadie effect.
(4) Paradox effect
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Which of the following is pot a part

of Standards of process in Health

care ?

(1) Technical management of a
case

(2) Documentation

(3) Interpersonal relationship

(4) Rules and procedures

Which of the following is pot an
accreditation organizations/
agencies ?

(1) "NABH

(2) JCHCO

(3) NABL

(4) Bureau of Indian Standards

L]

Sustainable Development- Goals
officially éame into force on —

(1) 1st January, 2020
(2) 1st.January, 2018
(8) 1st January, 2017
(4) 1st January, 2016

The number of daughfers a new
born girl will bear during her
life-time assuming fixed age,
specific fertility and mortality rate,
refers to which one of the following ?

(1) Crude birth rate

(2) Gross reproduction rate
(8) Net reproduction rate’
(4) Total fertility rate

India was officially declared Polio-
free in the year

1) 2012
(2) 2013
3) 2014
4) 2015
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If patient dies or is ctred of
disease, then

(1) Incidence decreases, prevalence
increases

(2) Incidence decreases, prevalence
decreases

(3) Incidence remains the same,
prevalence increases

(4) Incidence remains the same,
prevalence decreases

. Physical Quality of Life Trdex is.

based on

(1) Infant mortality

(2) Life expectancy at-birth
(3) Life expectancy at age five
(4) School dropout rate

. National Pharmaceutical Pricing

Authority is under

(1) Ministry of Health and Family
Welfare

(2) Ministry of Chemicals and
Fertilizers

(3) Ministry of Finance

(4) Ministry of Commerce

Which vaccine preventable disease

is pot «covered in Mission

Indradhanush ?

(1) Diphtheria

(2) Tetanus

(3) Typhoid

(4) Tuberculosis

“Health Survey and Planning
Committee” is popularly known as

(1) Bhore Committee

(2) Chadha Committee

(3) .Jungalwalla Committee
(4) Mudaliar Committee
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Which state has pot implemented

Ayushman Bharat (PMJAY)
Scheme as on December 2022 ?

(1) Haryana

(2) West Bengal

(3) Madhya Pradesh

. () Rajasthan

Demographic cycle has five stages
and each country is allotted a
different stage according to its
distribution of population. For
example, if the death and birth
rate of a country both are declining
then we call it as ;

(1) High stationary

(2) Early expanding

(3) Late expanding

(4) Low stationary

The First National Family Health
Survey was conducted in the year
(1) 1998-99

(2) 1992-93

(3) 2019-20

(4) 2015-16 - '

Maternal death is defined as death
of a woman within days of
termination of pregnancy.

(1) 42

(2) 30 -

(3). 28

4) 7

A systematic attempt to probe the
future by inference from known
facts is referred to as:

(1) Policies

(2) Budget

(3) Forecasting

(4) Decision making
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Management skills are essential

for viability of modern day
organisations, Which of the
following is not a managerial skill ?
(1) Human

(2) Technical
(3) Conceptual
(4) Feedback

Which of the following is involved

in reduction of custom duties on

import of medicines related to rare

diseases ?

(1) Ministry of Finance

(2) Ministry of Health & Family
Welfare

(3) Ministry of Chemicals &
Fertilizers

(4) Ministry of Agriculture

WhicH ratio 1s also known as
working capital ratio ?

(1) Current ratio

(2) Quick ratio

(8) Liquid ratio

(4) Debt-equity ratio

Which of the following is generally
not a primary method for cost
allocation ?

(1) Direct

(2) Reciprocal

(3) Step down

(4) Step up

Which of the following is related to

demand in Healthcare ?

(1) Grossman Model

(2) Beveridge Model

(8) Bismark Model

(4) INationaI Health Insurance
Model .
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‘Which discipline does not belong to

health economics ?

(1) Health Education

(2) Anthropology

(3) Health Services Research
(4) Statistical Methods

Tor a hospital, which one of the
following promotion methods is

‘dominant ?

@) Advertlsmg

(2) Sales promotion

(8) Public relations

(4) Direct marketing

The main' actor who marks the
process of production and delivery
of Healthcare Services is :

(1) Doctor

(2) Patient

(8) Owner of the Hospital

(4) State )

If the quantity demanded remains
constant when the price changes,
the good is said to have

(1) Perfectly inelastic demand
(2) Perfectly elastic demand
(8) Unit elastic demand

(4) Mixed demand

Fill in the blank :

The highest-valued alternative
that we give up to get something is
the of the activity chosen.

(1) Opportunity cost

(2) Actual cost

(38) Marginal cost

(4) Economic cost

Break Even Analysis does not
analyse

(1) Cost (2) Assets

(3) Sales volume (4) Profit
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The economic evaluation method
that puts a monetary value on both
the cost and the output is —

(1) Cost analysis

(2) Cost minimization

(3) Cost benefit analysis

(4) Cost utilization analysis

Which of the following seeks to
measure the additional benefits to
quality of life years following a
medieal intervention ?

(1) Cost minimization

(2) Cost-utility analysis _

(3) Quality adjusted life years

(4) Profit maximization

The benefits associated with the
best alternative use of resources is
called :

(1) Health economics
(2) Health resources
{3) Opportunity cost
(4) Alternative activities

When consumption of a good
increases, marginal utility will

(1) increase:

(2) decrease

(3) remain unchanged

(4) approach total utility

All are part of Hospital Utility
Services except :

(1) HVAC System

(2) Operation Theatres

(3) MGPS System

(4) Building Control System
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Who is eligible for joining CGHS ?

(1) Pensioners of State
Governments

(2) Civilian employees of Defence
paid from Defence Service
Estimates _

(8) State Police Personnel and
families throughout India

(4) Pensioners of Armed forces

As per triage, yellow indicates

(2) Ambulatory patients
(3) Dead
(4) Medium priority

Which is the World’s largest
Health insurance / - assurance
scheme fully funded by the
Government ?

(1) Obama Care

(2) PMJAY — Ayushman Bharat

(3) CGHS

(4) ESI |
CGHS doesn’t provide healthcare
through following system of

medicine :

(1) Allopathic
(2) Ayurveda
(3) Yoga

(4) Naturopathy

Beveridge model of healthcare
financing is prevalent in :

(1) UK .
(2) Germany
(3) Austria
(4) Netherlands
00
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.. In a

{1) Beam

In which of the following disasters,
injuries usually-exceed death ?

(1) Earthquakes
(2) Landslide

- {8) Avalanches

(4) Floods

hospital the ‘Disaster
management is an.extension of :

(1) Maintenance management

(2) Emergency

3) Pharmacy

(4) Manpower management

Who shall be the first responder in
Disaster Management situation ?

(1) Local Government
(2) Commumty

(3) State Government
(4) Central Governmeht

What is the vision of hospital

“disaster management plan ?

(1)
(2

To do greater good to the
greatest number of patients,

To provide best care to the
disaster victims.

To admit. all the patients
reporting to the hospital.

To provide all the patient
care services.

(3)
4

National Disaster Management
Authority is headed by

(1) Prime Minister

(2) President -

(8) Home Minister

(4) Defence Minister

Which of the following is a non-
structural element of a building ?
(2) Column

(8) Slabs (4) Equipment
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HVAC pertains to

(1) Heating, Ventilation,
Air-conditioning

(2) High Voltage, Air-conditioning

(3) Heating, Ventilation, Air-cooling

(4) High Voltage Alternating Current

The essential step in the disposal

of waste is :

(1) Use of gloves by nursing staff

(2) Segregation of hospital waste
at source _

(3) Use.of an incinerator

(4) Use of needle shredder

Which colour code is recommended
for the segregation of human
anatomical waste as per BMWM
Rules ?

(1) Yellow (2) Elack
(3) Red (4) Blue
Following statements regarding

buffer stock are correct except

(1) It is also known as safety or
rescue stock.

This stock should be used
‘only at the time of emergency
for unforeseen demands.

Buffer stock is kept in order
to minimize the risk of
shortage and stock outs.

It is extra stock in order to
meet the routine demands.

(@)

3)

What is true regarding
negotiations in the tender process
as per Chief Vigilance
Commissioner guidelines ?

(1) Cannot be done.

(2) Can be done with L1.

(3) Can be done with L1 and L2.
(4) Can be done with any vendor.
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FrateRea & § +F @1 sy @8 s | 110, Which ‘of the following' equipment
=R, ¥ & gl S A TR 7 must_be purchased ‘even if its
(1) ToEETd @) - utilisation is very low ?
(1) Spectrometer
@ R Tl (2) Digital X Ray
(3) fefniier (8) Defibrillator
(4) B[ aei (4) Mammography machine
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What is not a condemnation
criterion ?

(1) Functional but hazardous
" (2) Functional but no longer

required
(8) Non-functional but repairable .
(4) Non-functional and obsolete

Procurement of goods from single
source is permitted urder GFR :

(1) Rule 149
. -1
(2) Rule204

'(3) Rule 170

(4) Rule 166

As per GFR 2017, Local purchase
committee can purchase goods up
to a value of -
(1) ¥25,000

(2) ¥ 15,000

(3) ¥ 1,50,000

(4) T2,50,000

The functions of the Hospital
Disaster Management Committee
are all except :

(1) To develop Hospital disaster
plan.

(2) To renew and revise the
disaster plan on daily basis.

(38) To. deévelop departmental
plan in support of the
Hospital plan. R

(4) To supervise the mock drills.

Which of the following colour is not
used for triage ?

(1) Red
(2) Blue
3) Yellow
(4) Green
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ICU is classified into how many
levels ?

1 2
@3) 3

@) 4
@ 5

The ideal ratio of Nurses to ICU
beds is :

(1) 1-:1in each shift

(2) 1:2in each shift

(8) 1:3in each shift

(4) 1:4in each shift

Which of the following is called the
“Shop Window” of a Hospital ?

(1) (OPD) Out Patient Department
(2) In Patient Department

(3) Pharmacy Departiment

4 ICU

What colour code is used for a
person suffering from cardiac
arrest 7

(1) Red

(2) Blue

(3) Black:

(4) Green

Reporting under PCPNDT Act is a
must for

(1) Mammography
(2) Xray

(3 MRI

(4) Echocardiography

The conditions for getting license
to establish Blood bank are

governed by

(1) Drugs & Cosmetics Act

{2) Indian Red Cross Society

_(3) National
Organization

(4) Infectious Disease Act

Aids Control
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©124.

. Quality

A *“continuous batch washer
designed specifically to handle
heavy loads :

(1) Digester

(2) Cut.away Illustration

(38) A tunnel washer

(4) Cylindrical Chamber

control criteria for

transfusion services are all except :
(1) Number of outdated / wasted

units,

(2) Number of units donated by
publie. .

(3) Incidence of transfusion
reaction.

(4) Number of surgical

procedures cancelled due to
non-availability of blood.

Contaminated Blood bags are
disposed in
(1) Blue bin
(2) Yellow bin
(3) Red bin
(4) White
containers

puncture proof

125, As per Solid Waste Management

126.

Rules, Bulk generators have to
segregate solid waste in

(1) Two categories

(2) Three categories

(8) Four categories

(4) Five categories

Intravenous set used for giving
cytotoxic drugs is classified as
(1) Yellow category waste

(2) Red category waste

(3) Blue category waste, -

(4) White category waste
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127. As per Solid Waste Management
Rules, domestic hazardous waste
needs to be disposed of in.

(1) Green bag
(2) Black bag

%gg (3) Blue bag
WA (4) Yellow bag

128, The heat and moisture sensitive
items are sterilised through

(1) Hot air oven

(2) Steam sterilization
(3) Ethylene oxide (ETO)
(4) Autoclave

129. Which principle of management
states that “Subordinate should
receive orders from one boss and be
accountable to him” ?

(1) Unity of Command

(2) Unity of Direction

(3) Unity of Control
*(4) Centralisation

130, Communication is best described
as the process of

(1) Sharing messages

(2) Forwarding information
(3) Sharing information
(4) Feedback formulation

131, Our rural masses are facing

‘ : multiple health problems, The best
approach to deal with their
problems is to provide :
(1) Basic health services

I (2) Health education

‘ (3) Safe water supply and

sanitatioh

(4) Primary health care
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132,

133. :Followmg are the-

134.

135.
~ “Hawthorne effect” is incorrect ?

(4) The

Which of the following statement is

correct ? _

(1) Left side of an account is debit
side.

(2) Left side of an account is’
credit side,

(3) Right side of an account is
debit side.

(4) Left side of account deplcts
cash position.

quality

indicators for

performance of finance department

in the hospital except :

(1) Record of complaints from staff
about delay in salaries

(2) Time taken for billing after
receipt of information of
discharge

(3) Audit observations

(4) None of the above

Budget which focuses on the costs
of providing services i$ kndwn as
(1) Expense Budget

(2) Revenue Budget

(3) Cash Budget

(4) Operating Budget

Which of the following regarding
(1) Roethlisberger contributed to

the studies leading to
“Hawthorne effect”.

{2) The research was carried ot af

Hawthorrie Electric Company.

(3) The study revealed. that when

llumination was ‘increased,
productivity increased.
study revealed that
when  illumination was
decreased, productivity
increased.
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136. Which of the following is not
correct for the organisational
behaviour ? )

(1) Organisational behaviour is-an
integral part of management.

% (2) Organisational behaviour is a

"‘ disciplinary approach.

(8) Organisational behaviour

helps in analysis of behaviour.

(4). Organisational behaviour is

goal-oriented.

1387. In ternis of marketing, value of

product is a ratio between

(1) What a customer gets and
what he gives

(2) What a customer desires and
what he buys

(3) What a customer needs and
what he wants

(4) What a customer buys and
what he desires

138. According t6 Lauterborn, “Place” in

marketing mix:corresponds to

(1) -Convenience

(2) Customer cost

(8) Customer solution

(4) Communication-

Fall prevention programs should

include all of the following EXCEPT :

(1) Assessment/reassessment
criteria

(2) An  evidence-based
assessment tool

(8) Reimbursement criteria

(4) Postfall assessment criteria

139.

risk

140.

“Might is right” is the motto of
(1) Autocratic model

(2) Custodial model

(8) Supportive model

(4) Collegial model
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141. Ayushman Bharat Health Account

(ABHA) number is a hassle free

method of accessing and sharing

your health records digitally which

uses

(1) Aadhaar card number or PAN
card number

(2) Aadhaar card number or
‘Mobile number

(8) Aadhaar card number or
Bank Account number

(4) PAN card number or Mobile
number

142. Unstructured
mostly used by

information  1is

(1) Lower-level management
(2) Middle level managemeént
(3) -Top level management

(4) All levels of management

¢

143. Information systems that monitor
the elementary activities and
transactions of the organisations
are

(1) Management level system
(2) Operational level system
(3) Knowledge level system
(4) Strategic level system

144. A team approach to assist in
problem solving is most wuseful
when ;

(1) diverse areas of expertise are
required.

(2) the organization’s goals ‘are
unclear. ) ‘

(3) communication
exist.

(4) there are adequate resources
within the organization.

challenges
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1486.

147.

Facts or figures representing an
object, place or event in an
organization is known as

(1) Information

2) Knowledge

(3) Annual report .
(4) Data

What is not a job of Management
Information System ? g

(1) Creating data

(2) Capturing data

(8) Storage of data

(4) Processing of data

What is correct about Six sigma ?
(1) One defect per million

(2) 1.5 defects-per million

(3) 3.4 defects per million

(4) Zero defects per million

The information system that deals
with the flow of information about
people working in the organisation
(1)- Record (2) Transaction
(8) Personnel (4) Blocked

Who is credited with introducing
the concept of “structure, process
and outcome” as measures of
quality ?

(1) Donabedian (2} Deming

(3) Juran (4) Ishikawa

. Health education is the responsibility

of

(1) Health educationalist
(2) Doctor

(3) Paramedical staff

(4) Every health worker
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